Objective Type Question

In

COST ACCOUNTINHG

Cost Concepts and Principles

1. Indicate whether the following statements are ‘True’ or ‘False’ by writing ‘T’ or ‘F’ in the space provided :

…..
1.1
Cost accounting can be used only in manufacturing concerns.

…..
1.2
Costing, cost accounting and cost accountancy mean one and the same thing.

…..
1.3
Cost accounting is a branch of financial accounting.

…..
1.4
Financial accounting provides information concerning the business enterprise which permits the 


management to control in a general way the major functions of a business.

…..
1.5
Cost accounting is mainly meant to provide cost information not only to management but also to 


shareholders

…..
1.6
A business concern that has been prosperous needs no costing system.

…..
1.7
Cost accounting system may be used in educational institutions like schools, colleges, universities, 

etc.

…..
1.8
Cost audit is a part of cost accountancy.

…..
1.9
In brick kiln, cost unit is one brick.

…..
1.10
Cost unit in a school may be a ‘student’.

…..
1.11
All costs are controllable.

…..
1.12
In some cases cost unit and cost centre may be one and the same.

…..
1.13
Direct costs are those which are incurred for and conveniently identified with a particular cost centre 

or cost unit.

…..
1.14
Wages paid to time clerk is an example of direct cost.

…..
1.15
A cost that is direct as regards a cost unit or cost centre remains direct in all situations.

…..
1.16
Variable cost per unit remains fixed.

…..
1.17
Fixed cost per unit remains fixed.

…..
1.18
Chargeable expense is the sum of direct and indirect expenses.

…..
1.19
Operating costing and operation costing are two different methods of costing.

…..
1.20
Unit cost and unit costing means one and the same thing.

…..
1.21
In repair workshop, operating costing method is used.

…..
1.22
There is no difference between selling costs and distribution costs.

…..
1.23
Depreciation is an out of pocket cost.

…..
1.24
Uniform costing is not a distinct method of cost ascertainment.

…..
1.25
Conversion cost is equal to the total of direct labour and manufacturing overhead.

…..
1.26
‘Cost’ is the amount exchanged in consideration for goods or services received or to be received 


while ‘expense’ is that portion of cost which has expired.

…..
1.27
Output costing is a variation of job costing.

…..
1.28
Interest on capital, payment for which is not actually made, is an example of imputed cost.

…..
1.29
An item of cost which is uncontrollable by one Manager may be controllable by another.

……
1.30
Prime cost is the total of direct materials, direct wages and production overheads.

…..
1.31
Only variable costs are controllable.

2. Fill in the blanks :

2.1 An estimate is …………….., price is ………………………. and cost is ………………………….

2.2 To ascertain the cost of a given things is ……………………………..

2.3 On the basis of behaviour of cost, overheads are classified into …………………………………..

2.4 The main function of cost accounting is …………………………… reporting.

2.5 The main function of financial accounting is …………………………. Reporting.

2.6 One of the functions of cost accounting is proper matching of ……………………………. With revenues.

2.7 The aggregate of indirect materials, indirect labour expenses is known as ………………………..

2.8 The aggregate of direct materials, direct labour and direct expenses is known as …………………………

2.9 In cost accounting, abnormal losses are transferred to ……………………………….

2.10 A cost which requires payment to outside parties is known as …………………….. cost …………………….

2.11 Materials used plus direct labour plus factory overhead is called ……………………………..

2.12  In cement industry, cost unit is …………………………….

2.13 In automobile industry, cost unit should be ……………………………….

2.14 ……………………. Costing is based on the classification of costs into fixed and variable.

2.15 The method of costing used in a refined is ………………………….

2.16 The total of all direct costs is termed as ………………………………

2.17 ………………….. costing is used in cinemas.

2.18 In …………………… costing, the cost of a group of products is ascertained.

2.19 …………………………… costs are hypothetical notional costs.

2.20 …………………………….. costs are partly fixed and partly variable in relation to output.

2.21 ……………………………….. unit costs remain constant with changes in volume while …………… unit costs fluctuate with volume.

2.22 The process of identifying, summarising and interpreting information needed for planning and control, for management decisions and for product costing is termed ……………………………..

2.23 Two examples of fixed factory overhead are ………………………… and ……………………….. ; two examples of variable factory overhead are ……………………….. and ……………………………

2.24 …………………… expenditure benefits only the current period, while …………………… expenditure benefits more than one period.

2.25 ……………………………… is a location, person or item of equipment for which cost may be ascertained and used for the purpose of cost control.

2.26 The aggregate of direct wages and manufacturing overhead is termed as …………………………….

2.27 An example of pre-production cost is …………………………. Cost.

2.28 …………………………. Is a unit of product, service or time in relation to which cost may be expressed.

2.29 …………………………. Is a cost centre which consists of a person or a group of persons.

2.30 When a change is made in the level or method of production, the resulting change in total cost is referred to as …………………………

2.31 The ascertainment of costs after they have been incurred is known as …………………………….

2.32 …………………….. is a cost which cannot be influenced by the action of a specified member of an undertaking.

2.33 ………………………… is a document which provides for the detailed cost of a cost centre or a cost unit.

2.34 The method of costing used in job order industries is known as …………………………………

2.35 ………………………..is  the practice of charging all costs, both variable and fixed, to operations, processes or products.

2.36 ………………………….. costs are those which follow the item into inventory, and ……………….. costs are charged against current income.

2.37 A ………………………… company converts raw materials into finished goods, while a …………………… company sells its inventory in the same form as acquired.

3. Multiple Choice Questions —  Select the correct answer in each of the following :

3.1 The main purpose of cost accounting is to

a. maximise profits

b. help in inventory valuation

c. provide information to management for decision-making

d. aid in the fixation of selling prices.

3.2 One of the most important tools in cost planning is

a. direct cost

b. budget

c. cost sheet

d. marginal costing.

3.3 The purpose of financial accounting is to provide information for —

a. fixing prices

b. cost control

c. locating factory leading to wastages and losses

d. assessing the profitability and financial position of the firm.

3.4 Fixed cost per unit increases when —

a. variable cost per unit increases

b. variable cost per unit decreases

c. production volume increases

d. production volume decreases.

3.5 Variable cost per unit

a. varies when output varies

b. remains constant

c. increases when output increases

d. decreases when output decreases.

3.6 Increase in total variable cost is due to

a. increase in fixed cost

b. increase in sales

c. increase in production.

3.7 An example of variable cost is

a. property taxes

b. interest on capital

c. direct material cost

d. depreciation of machinery.

3.8 An example of fixed cost is

a. direct material cost

b. works manager’s salary

c. depreciation of machinery

d. chargeable expenses.

3.9 Cost accounting concepts include all of the following except.

a. planning

b. controlling

c. profit sharing

d. product costing.

3.10 The three major elements of product costs are all but

a. direct materials

b. factory overhead

c. direct labour

d. indirect labour.

3.11 Cost of goods produced includes

a. production cost and finished goods inventory

b. production cost and work-in-progress

c. production cost, work-in-progress and finished goods inventory.

3.12 Cost of goods sold includes

a. cost of production and work-in-progress

b. cost of production and finished goods inventory

c. cost of production, work-in-progress and finished goods inventory.

3.13 An overstatement of work-in-progress at the end of a period will

a. overstate cost of goods produced

b. understate current assets

c. understate gross profit

d. overstate net profit.

3.14 Conversion cost is equal to the total of 

a. material cost and direct wages

b. material cost and indirect wages

c. direct wages and factory overhead

d. material cost and factory overhead.

3.15 Multiple costing method is used in 

a. oil refinery

b. car manufacturing company

c. sugar mill

d. multi-product company.

3.16 Toy manufacturing company should use

a. unit costing

b. job costing

c. batch costing

d. multiple costing.

3.17 Electricity generating company should employ

a. unit costing

b. process costing

c. operation costing

d. operating costing.

3.18 Job costing is used in

a. paper mills

b. chemical works

c. printing press

d. textile mill.

3.19 Output costing is employed in

a. mining quarries

b. steel production

c. brick kilns

d. all of these.

3.20 Contract costing is used in

a. ship-building

b. aeroplane industries

c. automobile industries.

d. None of these.

3.21 Which method of costing is best suited for interior decorator ?

a. job costing

b. contract costing

c. process costing

d. operating costing.

3.22 Which method of costing is used in hospitals ?

a. job costing

b. unit costing

c. operating costing

d. no method is used.

3.23 Costs which are ascertained after they have been incurred are known as

a. imputed costs

b. sunk costs

c. historical costs

d. opportunity costs.

3.24 Prime cost plus variable overhead is known as

a. production cost

b. marginal cost

c. total cost

d. cost of sales.

3.25 When premises are owned, a charge in lieu of rent is

a. an opportunity cost

b. an imputed cost

c. a sunk cost.

3.26 Research and development cost is a

a. pre-production cost

b. sunk cost

c. opportunity cost

d. imputed cost.

3.27 When amount deposited in a bank is withdrawn for financing a project, the loss of interest on bank deposit will be referred to as

a. sunk cost

b. pre-production cost

c. opportunity cost

d. replacement cost.

3.28 Which of the following is virtually always after-production cost

a. research and development cost

b. selling and distribution cost

c. interest on capital

d. all of these.

3.29 Direct material cost is generally

a. controllable

b. uncontrollable.

3.30 A cost per unit which increases or decreases when volume of output increases or decreases is known as

a. fixed cost

b. variable cost

c. semi-variable cost.

4. Fixed  and  variable  costs  —  Indicate  whether each of the following items represent a fixed  (F),  variable  (V)  or semi-variable  (S) cost.

4.1 Factory rent

4.2 Direct wages

4.3 Cutting tools

4.4 Machinery repairs

4.5 Property taxes

4.6 Managerial salaries

4.7 Factory power

4.8 Supervision salaries

4.9 Insurance of building

4.10 Packing material.

5. Indicate whether the cost element of each of the following cost components is direct material (DM), direct labour (DL) or factory overhead (FO) :
5.1
Machine repairs








……….


5.2
Bottles for packing of products






……….

5.3
Cost account’s salary







……….

5.4
Supervisor’s salary







………..


5.5
Bags used in cement mills






………..

5.6
Wages of carpenter







………..

5.7
salary of works manager






………..

5.8
Plant depreciation







………..

5.9
Cutting tools








………..

5.10
Carriage on materials purchased





………..

5.11
Wages of shoe-maker







………..

5.12
Thread used in stitching







………..

6. Give an example of each of the following in the space provided :
6.1
Chargeable expense







…………

6.2
Out-of-pocket cost







…………

6.3
Sunk cost








…………

6.4
Fixed cost








…………

6.5
Variable cost








…………

6.6
Semi-fixed cost








…………

6.7
Direct labour








…………

6.8
Indirect labour








…………

6.9
Indirect expense







…………

6.10
Imputed cost








…………

7. Indicate the unit of cost in each of the following industries :
7.1
Coal mining








…………

7.2
Railways








…………

7.3
Chemical








…………

7.4
Cable









…………

7.5
Power









…………

7.6
Steel









…………

7.7
Television








…………

7.8
Brick-kiln








…………

7.9
Nuts and bolts








…………

7.10
Textiles









…………

7.11
Breweries








…………

7.12
Paper mill








…………

8. Which method of costing do you suggest in each of the following industries :
8.1
Textiles









…………

8.2
Transport








…………

8.3
Cinemas








…………

8.4
Toy manufacturing







…………

8.5
Repair shops








…………

8.6
Hospitals








…………

8.7
Ship building








…………

8.8
Interior decorator







…………

8.9
Radio factory








…………

8.10
Mining









…………

8.11
Shoe company








…………

8.12
Ready made garments







…………

8.13
Soap making








…………

8.14
Bicycle manufacturing







…………

8.15
Tyre and tube manufacturing






…………

9. Fill in the blank spaces :
9.1 Prime cost  +  Factory Overhead  =  ……………..

9.2 Total cost  +  Profit  =  ……………….

9.3 Direct labour  +  Factory overhead  =  ………………….

9.4 Total cost  —  Selling and distribution overheads  =  ………………….

9.5 Direct materials  +  Direct labour  +  Direct expenses  =  ……………………..

9.6 Cost of production  —  Administration overheads  =  …………………………

9.7 Prime cost  +  Factory overhead  +  Administration overhead  =  ……………………..

9.8 Prime cost  +  Overheads  =  …………………………..

11.
Insert  in  column 1  the  number  of  the  description  in  column  2  which  best  matches  the  item in column  1  :


Column 1





Column 2

11.1
Total variable cost

……….

(1)
Added cost of a new project

11.2
Total fixed cost


……….

(2)
What costs should be

11.3
Unit variable cost

……….

(3)
Cost of conversion

11.4
Fixed cost per unit

……….

(4)
Increases in proportion to output

11.5
Actual cost


……….

(5)
Decreases with rise in output

11.6
Standard cost


……….

(6)
What costs are expected to be

11.7
Budgeted cost


……….

(7)
Remains constant in total

11.8
Period cost


……….

(8)
remains constant per unit

11.9
Labour and overhead

……….

(9)
Incurred cost

11.10
Incremental cost

……….

(10)
Costs not assigned to products.

14.
Short answer question :—
Answer to each of the following questions need not exceed 5 lines.

14.1 What is cost ?

14.2 What is the difference between cost and expense ?

14.3 What is costing ?

14.4 What is the difference between costing and cost accounting ?

14.5 What are the prime activities of cost accounting department ?

14.6 To what extent is planning an accounting function ?

14.7 Can costing be applied to non-manufacturing concerns ?

14.8 Cost accounting is said to consist of three different phases.  Name them.

14.9 What are the three major elements of cost in a manufacturing company ?

14.10 What is the value of cost accounting to management ?

14.11 Give three examples of indirect workers.

14.12 Give three terms that are synonyms to the term factory overhead.

14.13 How are costs classified according to time factory for cost determination ?

14.14 How are costs classified according to their behaviour ?

14.15 What are the functions of costing ?

14.16 Define cost unit with suitable examples.

14.17 Define cost centre and give suitable examples.

14.18 What is the difference between cost unit and cost centre ?

14.19 Give five industries which should use process costing.

14.20 Do you know any disadvantages of cost accounting ?

14.21 What is semi-fixed cost ?  Give examples.

14.22 What is opportunity cost ?  Give examples.

14.23 Explain and illustrate out-of-pocket cost.

14.24 How are costs classified according to functions ?

14.25 What is the difference between job costing and contract costing ?

15.
Choose from among the accompanying graphs A to H the one that matches the cost behaviour of the numbered item.  Indicate by letter which graph best fits each of the situations described.















A


B

      C


     D





E


F

     G


        H

GRAPH

The vertical axis of the graphs represents in total of factory costs incurred and the horizontal axis represents total production.  The graphs may be used more than once.

15.1 Direct material cost.

15.2 Depreciation of plant on diminishing balance method.

15.3 Depreciation of plant on straight line method.

15.4 Rent of factory buildings.

15.5 Variable cost per unit of output.

15.6 Fixed cost per unit of output.

15.7 Salary of assistant foreman, where one assistant foreman is added for every ten assembly workers added.

15.8 Availability of quantity discounts where cost per unit falls as each price break is reached.

15.9 Telephone bill which entails a fixed rent for 100 or less calls made per quarter and then an increasing total cost for every additional call made.

15.10 Price rise of an increasingly scarce raw material where the price soars as the desired quantity increases.

ANSWERS
1.1
False -
Cost accounting can be used in all types of concerns – manufacturing and non-manufacturing.

1.2
False -
Through these terms are commonly used interchangeably technically these terms have different 


meanings.

1.3
False -
Cost accounting is a specialised branch of accounting and not of financial accounting.

1.4 True 

1.5
False -
Cost accounting mainly serves the informational needs of the management.

1.6
False -
All concerns need costing system for more operational efficiency.

1.7 True 

1.8
True -
Cost accountancy embraces not only costing and cost accounting but also cost audit and cost 


control.

1.9
False -
One brick is too small a cost unit and thus cost unit is generally 500 bricks or 1,000 bricks etc.

1.10 True 

1.11
False -
Certain costs are not controllable.

1.12
True 

1.13 True 

1.14
False -
It is an example of indirect cost.

1.15
False -
A cost that is direct in a case may be treated as indirect in other situations.

1.16
True -
Variable cost remains fixed per unit but varies in total.

1.17
False -
Fixed cost remains fixed in total but varies per unit.

1.18
False -
Chargeable expenses are direct expenses.

1.19
True -
Operating costing is used in industries providing services, while operation costing represents a 


refinement of process cost procedure.

1.20
False -
Unit cost is the cost per unit, whereas unit costing is a method of costing.

1.21
False -
In repair workshop, job costing is used.

1.22
False -
Selling cost is the cost of stimulating demand and securing orders, whereas distribution cost is the 

cost incurred in moving the goods from the company’s godown to the customer’s place.

1.23
False -
Out of pocket costs involve payment to outsiders.

1.24
True -
Uniform costing refers to the use by several undertakings of the same costing principles or 


practices.

1.25 True

1.26 True

1.27 False -
Output costing is a variation of process costing.

1.28 True -
Imputed cost is hypothetical notional cost not involving cash outlay and which is computed for decision-making purpose.

1.29 True

1.30 False -
Prime cost is the total of direct expenses.

1.31 False -
Certain fixed costs are also controllable.

2.
2.1
an option; a policy : a fact.


2.2
costing,





2.3
fixed and variable


2.4
internal





2.5
external


2.6
costs





2.7
overhead


2.8
prime costs




2.9
Costing Profit and Loss A/c.


2.10
out of pocket




2.11
factory cost


2.12
a tonne





2.13
number


2.14
marginal




2.15
process costing


2.16
prime cost




2.17
operating


2.18
batch





2.19
Imputed


2.20
Semi-fixed




2.21
Variable, fixed


2.22
cost accounting




2.23
building rent, managerial salaries; power 








cost, lubricants.


2.24
revenue; capital




2.25
cost centre


2.26
conversion cost




2.27
research and development


2.28
cost unit




2.29
personal cost centre


2.30
differential cost




2.31
historical costing


2.32
uncontrollable




2.33
cost sheet


2.34
job costing




2.35
absorption costing


2.36
product; period




2.37
manufacturing; trading

3.
3.1
(c)

3.2
(b)

3.3
(d)

3.4
(d)


3.5
(b)

3.6
(c)

3.7
(c)

3.8
(b)


3.9
(c)

3.10
(d)

3.11
(b)

3.12
(b)


3.13
(d)

3.14
(c )

3.15
(b)

3.16
(c)


3.17
(d)

3.18
(c)

3.19
(d)

3.20
(a)


3.21
(a)

3.22
(c)

3.23
(c)

3.24
(b)


3.25
(b)

3.26
(a)

3.27
(c)

3.28
(b)


3.29
(a)

3.30
(a)

4.
4.1
(F)

4.2
(V)

4.3
(V)

4.4
(S)


4.5
(F)

4.6
(F)

4.7
(V)

4.8
(S)


4.9
(F)

4.10
(V)

5.
5.1
(FO)

5.2
(DM)

5.3
(FO)

5.4
(FO)


5.5
(DM)

5.6
(DL)

5.7
(FO)

5.8
(FO)


5.9
(FO)

5.10
(DM)

5.11
(DL)

5.12
(FO)

6.
6.1
Hire of special machine




6.2
wages


6.3
Depreciated value of a plant when replaced

6.4
Factory rent


6.5
Direct material





6.6
Telephone expenses



6.7
Wages of machine operator



6.8
Wages of peon


6.9
Insurance premium




6.10
Interest on capital when not paid

7.
7.1
a tonne





7.2
a passenger km.


7.3
a tonne or a litre



7.4
a metre


7.5
Kilo-watt hour




7.6
a tonne


7.7
number





7.8
1000 bricks


7.9
gross or a tonne



7.10
a metre



7.11
Barrel of beer




7.12
a tonne (or a kilogram)

8.
8.1
Process costing




8.2
Operating costing


8.3
Operating costing



8.4
Batch costing


8.5
Job costing




8.6
Operating costing


8.7
Contract costing



8.8
Job costing


8.9
Multiple costing




8.10
Unit costing


8.11
Batch costing




8.12
Batch costing


8.13
Process costing




8.14
Multiple costing

8.15 Batch costing

9.
9.1
Works cost




9.2
Selling price



9.3
Conversion cost




9.4
Cost of production


9.5
Prime cost




9.6
Works cost


9.7
Cost of production



9.8
Total cost

11.
11.1
(4)





11.2
(7)


11.3
(8)





11.4
(8)


11.5
(9)





11.6
(2)


11.7
(6)





11.8
(10)


11.9
(3)





11.10
(1)

12.
12.1
Value of economic resources used

12.2 Expired costs which are deductible from revenue

12.3 Ascertaining costs

12.4 Ascertain the cost of each unit produced

12.5 Collected and accumulated for each job or work order

12.6 Job costing

12.7 Radio, Television, motor car manufacture, etc.

12.8 Cost which gives rise to cash expenditure.

12.9 Material, labour and expenses.

12.10 Fixed, variable and semi-variable.

12.11 Manufacturing cost, administration cost and selling and distribution cost.

12.12 The ascertainment or cost after it has been incurred.

12.13 Constant for all volumes of output within the installed capacity of plant.

12.14 Partly fixed and partly variable.

12.15 “a unit of product, service or time in relation to which costs may be ascertained or expressed”.

12.16 “a location, person or item of equipment (or group of these) for which costs may be ascertained and used for the purpose of cost control.”

12.17 That cost which has already been incurred and thus is not relevant to decision-making purpose.

12.18 Advantage forgone as a result of rejection of alternative use of resources.

12.19 Direct labour and factory overheads.

12.20 Identified with individual cost unit.

13.
13.1
C

13.2
B

13.3
M

13.4
K


13.5
O

13.6
P

13.7
H

13.8
N

15.
15.1
C

15.2
H

15.3
C

15.4
A


15.5
A

15.6
G

15.7
D

15.8
E


15.9
B

15.10
F

Materials

1. Indicate whether the following statements are true or false by writing “T” or “F” in the space provided.
…..
1.1
Stores ledger is maintained in the stores department.

…..
1.2
Purchase requisition Note is prepared by the purchasing department. 

…..
1.3
The items ‘materials’ and ‘inventory’ should not be used synonymously.

…..
1.4
Perpetual inventory system enables management to ascertain stock at any time without the 


expense of physical stock-taking.

…..
1.5
Annual stock-taking confirms that the perpetual inventory is functioning properly.

…..
1.6
Weighted average method of pricing stores involves adding all the different prices and dividing by 

the number of such prices.

…..
1.7
According to replacement price method of material pricing, issues are at the current economic 


values.

…..
1.8
Bin card shows the quantity and value of a material at any moment of time.

…..
1.9
Material losses due to careless handling resulting in breakage should be transferred to Costing 


Profit and Loss A/c.

…..
1.10
Bill of Materials is a cash memo sent by the supplier along with the materials.

…..
1.11
Bin cards are not a part of accounting records.

…..
1.12
Stores Requisition Note is not a perpetual inventory record.

…..
1.13
Simple average method of pricing is the simplest and perhaps one of the best methods.

…..
1.14
When maximum stock level is fixed, the stock in hand should never exceed this level.

……
1.15
Re-ordering level is always fixed somewhere between maximum and minimum stock levels.

…..
1.16
The economic order quantity is the re-order quantity.

…..
1.17
In ABC analysis, ‘A’ group of items consist of those materials, the value of which is not high but 


which are used in large quantities.

…..
1.18
In LIFO method of pricing, the effect of current market prices is reflected in the cost of production.

…..
1.19
In FIFO method, closing stock is valued at oldest prices of materials.

…..
1.20
A list of all materials and parts required for a particular job is called production order.

…..
1.21
The bin card and stores ledger are written up with the same basic documents.

…..
1.22
ABC analysis is based on the principle of ‘management by exception’.

2. Fill in the blanks.
2.1
Bin card is maintained by the ………………………

2.2 Abnormal losses of materials are charged to ………………………….

2.3 ……………………. Is that level of materials at which a new order for material is to be placed.

2.4 …………………. Represents that quantity of material which is normally ordered when the materials reach ordering level.

2.5 Under the ABC technique ‘A’ stands for …………………..

2.6 Under two-bin system of inventory control, the first bin contains enough stock to ……………….. and the second bin contains the ………………….

2.7 Materials turnover is a ratio of ……………………… to ………………………

2.8 Under the ……………………. Method, materials are issued to production at a pre-determined price.

2.9 ……………………. Method of pricing the materials evens out the fluctuations in purchase prices.

2.10 Goods Received Note is prepared by the …………………………

2.11 Quantities of materials on hand as shown by the bin cards should agree with quantities on the ……………….

2.12 Under the …………………. Method, a new issue price is determined after each purchase.

2.13 Under the ……………….. cost method, the materials issued during a month are coasted at the weighted average price as at the end of the prior month.

2.14 The formula for fixing minimum stock level is ……………………….

2.15 The average stock level is fixed by the formula ……………………..

2.16 The two perpetual inventory records are …………………….. and …………………………

2.17 Two avoidable reasons for the difference between physical quantity of material and that shown by bin card may be ……………………. and ……………………….

2.18 A method of recording balances after every receipt and issue to facilitate regular checking and to obviate closing down for stock taking is known as ……………………….

2.19 ……………………. Items should be stored as near as possible to the department requiring them.

2.20 Allotting symbols or code numbers to different items of materials known as ……………………

2.21 Two important opposing factors in fixing the economic order quantity are ………………………. and ………………….

2.22 The method of regular physical verification of materials throughout the year is known as …………………..

2.23 ………………….. is  a special type of discount allowed for bulk purchases.

2.24 ……………………. is a document on which is recorded the transfer of materials from one job or department to another.

2.25 ………………….. is a document which is a classified record of materials issues, returns and transfers.

2.26 ………………….. is a document which authorises and records the issue of materials for use.

2.27 In ………………….. method of pricing, more than one issue price may have to be adopted for pricing a single requisition.

2.28 In …………………… method stock is valued at the latest price paid.

2.29 …………………….. is a document which records the return of unused materials.

2.30 Surpluses and deficiencies in the course of stock-taking may arise due to …………………… and ……………. and ………………………..

3. Multiple Choice Questions – Select the correct answer in each of the following cases.

3.1 Direct material is a 

(a) Fixed cost

(b) Variable cost

(c) Semi variable cost.

3.2 Direct material is a 

(a) Manufacturing cost.

(b) Administration cost.

(c) Selling and distribution cost

(d) Any of the above.

3.3 In most of the industries, the most important element of cost is

(a) Material

(b) Labour

(c) Overheads.

3.4 Which of the following is an accounting record ?

(a) Bill of Materials

(b) Bin card

(c) Stores ledger

(d) All of these.

3.5 Which of the following documents is used for issuing materials to production departments ?

(a) Purchase Requisition Note

(b) Stores requisition Note

(c) Goods Received Note

(d) Stores Credit Note.

3.6 Which of the following is considered to be the normal loss of materials ?

(a) Loss due to accidents

(b) Pilferage

(c) Loss due to breaking the bulk

(d) Loss due to careless handling of materials

(e) All of these.

3.7 According to which of the following methods of pricing issues are close to current economic values ?

(a) Last-in-first-out price.

(b) First-in-first-out price

(c) Highest-in-first-out price

(d) Weighted average price.

3.8 In which of the following methods of pricing, costs log behind the current economic values ?

(a) Last-in-first-out price

(b) First-in-first-out price

(c) Replacement price

(d) Weighted average price.

3.9 Which  of  the  following methods of stock control aims at concentrating efforts on selected items of materials ?

(a) Perpetual inventory system

(b) Materials turnover

(c) Maximum, minimum and re-order level setting

(d) ABC analysis.

3.10 In base stock method of pricing the material issues, the term ‘base stock’ represents the

(a) Quantity of stock being issued.

(b) Stock in balance.

(c) Minimum stock

(d) Maximum stock.

3.11 Which of the following items of cost should NOT be treated as direct material ?

(a) Electricity representing 90% of the total cost.

(b) Sand paper used in production

(c) Thread used in attaching garments

(d) All of the above.

3.12 Continuous stock-taking is a part of

(a) Annual stock-taking

(b) Perpetual inventory

(c) ABC analysis.

3.13 The classification of items in ABC analysis is made on the basis of

(a) Investment value of materials

(b) Consumption value of materials

(c) Quantity of materials consumed

(d) All of these.

3.14 In which of the following methods, issues of materials are priced at a pre-determined rate ?

(a) Inflated price method.

(b) Standard price method.

(c) Replacement price method.

(d) Specific price method.

3.15 In which of the following methods, materials are issued at the price prevailing at the time of issue ?

(a) Inflated price method

(b) Standard price method

(c) Replacement price method

(d) Specific price method.

3.16 The storekeeper should initiate a purchase requisition when stock reaches.

(a) Minimum level

(b) Maximum level

(c) Re-order level

(d) Average level.

3.17 Which of the following material losses should be transferred to Costing Profit and Loss Account ?

(a) Loss by evaporation

(b) Loss due to improper storage of materials

(c) Loss due to breaking the bulk

(d) All of these.

3.18 When material prices fluctuate widely, the method of pricing that gives absurd results is

(a) Simple average price

(b) Weighted average price

(c) Moving average price

(d) Inflated price.

3.19 When price fluctuate widely, the method that will smooth out the effect of fluctuations is

(a) Simple average

(b) Weight average

(c) FIFO

(d) LIFO

3.20 In which of the following methods, the charge to production is not at actual cost ?

(a) Weighted average price

(b) Standard price

(c) Replacement price

(d) All of these.

3.21 Expected annual usage of a particular raw materials is 2,00,000 units and the economic order quantity is 10,000 units.  The invoice cost of each unit is Rs.500 and the cost to place are order is Rs.80.  The average inventory is

(a) 1,00,000 units

(b) 5,000 units

(c) 10,000 units

(d) 7,500 units

3.22 Taking the data in Q. 3.21 above, the estimated annual order cost is

(a) Rs.1,600

(b) Rs.10,000

(c) Rs.3,200

(d) Rs.5,000

4. Given — Op. Stock on 1/1/1984 — 200 kg @ Rs.4 per kg.



Purchased on 4/1/1984 — 300 kg @ Rs.5 per kg.



Issues on 8/1/1984
— 350 kg



Market price on 8/1/1984
= Rs.5 per kg.

4.
On the basis of above information, select the correct answer in each of the following :
4.1 At what amount materials issued will be charged if FIFO method is used ?

(a) Rs.1,100

(b) Rs.1,550

(c) Rs.1,700

(d) Rs.1,750.

4.2 At what amount materials issued will be charged if LIFO method is used ?

(a) Rs.1,550

(b) Rs.1,575

(c) Rs.1,700

(d) Rs. 1,750.

4.3 At what amount materials issued will be charged if simple average price is used ?

(a) Rs.1,550

(b) Rs.1,575

(c) Rs.1,610

(d) Rs.1,700.

4.4 At what amount materials issued will be charged if weighted average price is used ?

(a) Rs.1,575

(b) Rs.1,610

(c) Rs.1,625

(d) None of these.

4.5 At what amount materials issued will be charged if replacement price method is used ?

(a) Rs.1,550

(b) Rs.1,700

(c) Rs.1,750

(d) None of these.

4.6 What will be the value of closing stock under FIFO method ?

(a) Rs.600

(b) Rs.675

(c) Rs.700

(d) None of these.

4.7 What will be the value of closing stock under LIFO method ?

(a) Rs.600

(b) Rs.675

(c) Rs.690

(d) Rs.750.

4.8 What will be the value of closing stock under simple average method ?

(a) Rs.600

(b) Rs.690

(c) Rs.725

(d) Rs.750

4.9 What will be the value of closing stock if weight average method is applied ?

(a) Rs.600

(b) Rs.690

(c) Rs.725

(d) Rs.750.

4.10 What will be the value of closing stock if replacement price method is used ?

(a) Rs.550

(b) Rs.600

(c) Rs.750

(d) None of these.

5.
Given — Receipts :
1/12/1983
80 kg @ Rs.5 per kg.





10/12/1983
80 kg @ Rs.6 per kg.



Issued :
2/12/1983
60 kg.





11/12/1983
60 kg.

What is the value of 40 units of closing stock under each of the following methods ?
5.1
FIFO





….
Rs. ……………..

5.2
LIFO





….
Rs. ……………..

5.3
Simple average price



….
Rs. ……………..

5.4
Weighted average price



….
Rs. ……………..

6.
Indicate in the space provided whether each of the following items represents direct (D) or indirect 
(I) materials.

6.1
Clay in bricks







………….


6.2
Lubricants







………….

6.3
Jars for cosmetics






………….

6.4
Nails in wooden furniture





………….

6.5
Sand paper used in production





………….

6.6
Thread used in stitching shirts





………….

6.7
Ink used in printing






………….

6.8
Shop patterns







………….

6.9
Fruits in canning industry





………….

6.10
Pig iron in foundry.






………….

7. Complete the following statements :
7.1 The train ‘material’ refers to ……………….

7.2 Supplies are those materials which do not become a part of the …………………

7.3 The first step in the purchase procedure in centralised purchasing organisation is to …………………

7.4 Average stock level ………………..

7.5 The maximum stock level is that quantity of material ………………..

7.6 Economic order quantity is that size of the order which ………………

7.7 Materials issued to a department in excess of its requirement should be returned to stores along with a copy of …………………………

7.8 All the materials required for a particular job may be listed by the production department on a single document known as ………………………

7.9 In two-bin system, two bins are maintained for ……………………….

7.10 FIFO method of pricing issues is based on the assumption that ……………………….

7.11 Weight average price is calculated by dividing the total cost of materials in stock by the ………………………

7.12 One method of knowing the stock level of every, item of material at all times is by means of ………………….

7.13 Minimum stock level ………………………

7.14 Re-order levels …………………………

7.15 Slow-moving materials are those which ………………………..

8. Match column A with column B give a below :

Column
  A







Column B

8.1
ABC Analysis






(.i)
Bill of material

8.2
Perpetual inventory





(ii)
Stores requisition note

8.3
Abnormal material losses




(iii)
Selective control

8.4
Master requisition





(iv)
Purchase requisition note

8.5
Issuing a material item to production



(v)
Continuous stock-taking

8.6
First step in purchase





(vi)
Costing P&L A/c.


Match Panel

8.1 ……………….

8.2 ……………….

8.3 ………………..

8.4 ………………..

8.5 ………………

8.6 ………………

9. Short answer questions — Answer the following questions in not more than 4 lines each.

9.1 Why is purchasing an important function ?

9.2 Name three methods of material control.

9.3 What is the difference between material and inventory ?

9.4 What are the possible dangers of under-stocking ?

9.5 The control of materials must meet two opposing needs.  What are they ?

9.6 What are carrying costs which are considered while fixing economic order quantity ?

9.7 What is economic order quantity ?

9.8 What is the purpose of material coding ?

9.9 What are the principles of material coding ?

9.10 Differentiate between bin card and stores ledger.

9.11 What is meant by ABC analysis ?

9.12 What is the meaning of A, B and C in ABC analysis ?

9.13 Why is ABC analysis known as selective control ?

9.14 What is the difference between perpetual inventory system and continuous stock-taking ?

9.15 What is two-bin system ?

9.16 What is meant by imprest system of store keeping ?

9.17 What is material turnover ?

9.18 What is the importance of material turnover ratio ?

9.19 What is meant by inflated price ?

9.20 How are normal material losses dealt with ?

9.21 What purpose does purchase requisition serve ?

9.22 To whom the copies of purchase order sent ?

9.23 What is a G.R. Note ?

9.24 How is re-order quantity fixed ?

9.25 Define direct and indirect materials.

9.26 Name the records of the storekeeper for incoming materials.

9.27 How is maximum stock level computed ?

9.28 How will you calculate average stock level?

9.29 Give four examples of abnormal losses of materials.

9.30 Name the documents used in purchase procedure.

9.31 Give a proforma  of bin card.

9.32 Are there any objections to the procedure of direct transfer of surplus materials from one job to another ?

9.33 What are the advantages of weighted average method of pricing the material issues ?

9.34 Of FIFO and LIFO, which method do you think is better ?

9.35 Give at least four factors which are considered while selecting a method of pricing.

9.36 Define replacement price.

9.37 What is the effect of using LIFO method during periods of rising prices ?

9.38 How will you price the return of materials from work orders ?

9.39 What are the contents of material requisition note ?

9.40 What is the difference between material requisition note and bill of materials ?

9.41 How is purchase department organised ?

9.42 What is material handling cost ?

9.43 What is danger level of materials ?

9.44 What is meant by inventory tag ?

9.45 Define slow and non-moving material items ?

A N S W E R S

1.
1.1
False – Stores ledger is maintained in the cost accounting department and not in the stores 


department.

1.2 False – Purchase requisition note is prepared by the requisitioning department, e.g., stores department.

1.3 True – Inventory has a wider meaning and covers the stock not only of raw materials but also of components, work-in-progress and finished stock.

1.4 True – Perpetual inventory system keeps the stock balances up to date.

1.5 False – Annual stock-taking has nothing to do with perpetual inventory system, rather it is the continuous stock-taking that confirms the proper functioning of the perpetual inventory system.

1.6 False – The weighted average method of pricing averages prices after weighting (i.e., multiplying) by their quantities.

1.7 True – Replacement price method uses the current market prices to value issues.

1.8 False – Bin card shows only the quantity of material and not its value.

1.9 True – Breakage of materials due to careless handling is an abnormal loss.

1.10 False – Bill of materials is a master requisition listing all the materials required for a given job.

1.11 True

1.12 True – Perpetual inventory records are bin card and stores ledger.

1.13 False – Simple average sometimes gives very crude results.

1.14 False – Under certain special circumstances, the maximum level may be exceeded.

1.15 True

1.16 True

1.17 False – ‘A’ items represent high value items.

1.18 True

1.19 False – Closing stock is valued at the latest prices paid.

1.20 False – It is known as Bill of materials.

1.21 True

1.22 True

2.
2.1
storekeeper

2.2 Costing profit and Loss A/c.

2.3 Re-order level

2.4 Re-order quantity

2.5 High value items

2.6 Satisfy production needs ; reserve quantity

2.7 Materials consumed during the period; average stock

2.8 Standard Price

2.9 Weighted average price

2.10 Receiving department

2.11 Stores ledger account

2.12 Weight average

2.13 Periodic weighted average

2.14 Re-order level – (Normal consumption x Normal re-order period)

2.15 ½ (Minimum level + Maximum level)

2.16 Bin card; stores ledger

2.17 Pilterage; posting in the wrong bin card

2.18 Perpetual inventory system

2.19 Bulky

2.20 Codification

2.21 Cost of ordering; cost of carrying stock

2.22 Continuous stock-taking

2.23 Quantity discount

2.24 Material transfer note

2.25 Material issue analysis sheet

2.26 Material Requisition Note

2.27 LIFO or FIFO

2.28 FIFO

2.29 Materials return note

2.30 Evaporation; absorption of moisture; pilferage

3.
3.1
(b)

3.2
(a)

3.3
(a)

3.4
(c)


3.5
(d)

3.6
(c)

3.7
(a)

3.8
(b)


3.9
(d)

3.10
(c)

3.11
(d)

3.12
(b)


3.13
(d)

3.14
(b)

3.15
(c)

3.16
(c)


3.17
(b)

3.18
(a)

3.19
(b)

3.20
(d)


3.21
(b)

3.22
(a)

4.
4.1
(b)

4.2
(c)

4.3
(b)

4.4
(b)


4.5
(c)

4.6
(d) (Rs.750)
4.7
(a)

4.8
(c)


4.9
(b)

4.10
(a)

5.
5.1
Rs.240

5.2
Rs.220

5.3
Rs.250

3.4
Rs.232

6.
6.1
(D)

6.2
(I)

6.3
(D)

6.4
(I)


6.5
(I)

6.6
(I)

6.7
(D)

6.8
(I)


6.9
(D)

6.10
(D)

7.
7.1
All commodities consumed in the process of manufacture.

7.2 Finished product

7.3 Initiate purchase through purchase requisition

7.4 Minimum level  +  maximum level
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7.5 Above which the stock of that material should not generally be allowed to go.

7.6 Gives maximum economy in purchasing materials and helps in maintaining materials at the optimum level and at the minimum cost.

7.7 Materials return note

7.8 Bill of materials

7.9 Each item of material

7.10 Materials which are received first are issued first

7.11 Total quantity of material in stock

7.12 Perpetual inventory system

7.13 Re-order level – (Normal consumption  x  Normal re-order period)

7.14 Maximum consumption  x  Maximum re-order period

7.15 Move at a slow rate.

8.
8.1
(iii)


8.2
(v)


8.3
(vi)


8.4
(.i)


8.5
(ii)


8.6
(iv)

Labour

1. True or False ? Indicate in the space provided.
…..
1.1
Payroll department gathers and records each worker’s time of arrival and departure for the purpose 

of attendance.

…..
1.2
Metal disc method of time-keeping can be profitably used in very large undertakings.

…..
1.3
In Taylor’s differential Piece Rate plan, time wages are guaranteed to each worker.

…..
1.4
Overtime wages are to be paid at double the normal wage rate.

…..
1.5
Rowan incentive plan distributes the benefit of time saved equally between employee and employer.

…..
1.6
When wages are paid on piece basis, the quality of work deteriorates.

…..
1.7
All overtime is not unusual.

…..
1.8
Cost of idle time due to labour strike should be treated as factory overhead.

…..
1.9
Wages of a crane operator in a factory are direct wages.

…..
1.10
Out-workers are those who are appointed on a temporary basis.

…..
1.11
When Time-cum-Job Card is maintained, there may be no need of keeping a separate Time Clock 

Card.

…..
1.12
Job evaluation is the comparative appraisal of workers on  different jobs.

…..
1.13
Idle time is the difference between time clocked and time booked.

…..
1.14
Time booking is done by the time-keeper at the factory gate.

…..
1.15
Time booking is not necessary in the case of piece workers.

…..
1.16
Direct wages is a fixed cost.

…..
1.17
In Halsey Premium Plan, time wages are guaranteed.

…..
1.18
In Emerson’s Efficiency System, bonus is paid only when efficiency is 100%.

…..
1.19
Merrick’s Differential Prece Rate System is less punitive than Taylor’s system.

…..
1.20
Labour rate is inflated to cover the cost of abnormal idle time.

…..
1.21
Under the Rowan Plan, bonus is a fixed percentage.

…..
1.22
When the time saved is 50% of the standard time, both the Rowan and Halsey plans pay the same 

amount of bonus.

…..
1.23
The purpose of work measurement is to determine the standard time for doing a task.

…..
1.24
Clock Card is a useful time booking record.

…..
1.25
Casual workers are usually indirect works.

…..
1.26
Labour productivity automatically increases when production increases.

…..
1.27
Cost of normal idle time may be treated as productions overhead.

…..
1.28
Overtime premium is always treated as a factory overhead.

…..
1.29
The cost of paid leave to workers is transferred to Costing Profit and Loss Account.

…..
1.30
The amount of minimum bonus payable to direct workers should be included in the direct labour 


cost and that payable to indirect workers should be charged to overhead.

…..
1.31
Idle time arises when workers are paid on time basis or piece basis.

2. Fill in the blanks :
2.1 Another term used for Time and Motion Study is ……………………

2.2 Differential piece-work systems provide for higher rewards to ………………………… workers.

2.3 In Taylor’s differential piece rate system, …………………. piece rates are set for each job.

2.4 Wage sheet is prepared by the ………………….. department.

2.5 Overtime wages due to abnormal conditions like flood, earthquakes etc. should NOT be charged to …………………

2.6 One measure of reducing labour turnover is to …………………………

2.7 Cost of normal idle time is charged to …………………………

2.8 ………………. Department is concerned with proper selection and training of workers.

2.9 …………………….. is a process of recording the time spent by workers on different jobs.

2.10 Idle time arises only when workers are paid on …………………….. basis.

2.11 In Halsey Bonus Plan, a worker gets a bonus equal ……………… of the time saved.

2.12 Wages of a ……………………… is an example of direct wages.

2.13 The workers who are sent to sites or customers’ premises for performing work are known as ……………….

2.14 High rate of labour turnover can be controlled by ……………….. and …………………..

2.15 Two basic forms used in accounting for labour costs are the ………………… and the ………………………

2.16 An example of a variable labour cost is …………………., of a fixed labour cost ………….., and of a semi-variable labour cost is ……………..

2.17 An example of labour cost which is direct to a department and indirect to a product is …………………….

2.18 In Emerson’s Efficiency system, no bonus is payable to workers unless efficiency is ………………… per cent.

2.19 …………………….. is the rate of exchange in the labour force of an organisation.

2.20 ……………………… is a document which is  a classified record of time and / or wages compiled from labour time records.

2.21 The labour cost which can be identified with and allocated to cost centre or cost units us known as …………………….

2.22 Labour turnover rate can be measured by the formula ……………………….

2.23 Time not spent on productive work is known as ………………………….

2.24 Time recording clock prints the time on ……………………………….

2.25 From the accounting and control point of view, idle time is classified into …………………….. and ………………..

2.26 Two unavoidable reasons for idle time are …………………….. and ……………………….

2.27 Recording of arrival and departure time of workers is known as ………………………..

2.28 …………………… plan and ………………….. plan guarantee minimum day wages.

2.29 ……………… plan and …………………. plant do not guarantee minimum wages for the day.

2.30 When time saved is less than ……………… per cent of the standard time, Rowan plan allows more wages to workers than Halsey plan.

2.31  When overtime is worked due to seasonal pressure of work, the overtime premium should be treated as ………………………

2.32 One of the common types of friends committed in the payment of wages is to include …………………… in the payroll.

3. Multiple choice Questions.  Select the correct answer in each of the following statements :
3.1 In which of the following incentive plans of wage payment, wage on time basis are NOT guaranteed ?

(a) Halsey plan

(b) Rowan plan

(c) Taylor’s differential piece rate system

(d) Gantt’s task and bonus system

3.2 Under the high wage plan, a worker is paid

(a) at a time rate higher than the usual rate

(b) according to his efficiency

(c) at a double rate for overtime

(d) normal wages plus bonus.

3.23 Which of the following incentive methods of wage payment should be used for indirect workers.

(a) Rowan plan

(b) Taylor’s differential piece rate system

(c) Gantt’s task and bonus plan

(d) All of the above

(e) Note of the above.

3.4
Which of the following methods of wage payment is most suitable where quality and accuracy of work is of 
primary importance ?

(a) Piece rate system

(b) Time rate system

(c) Differential piece work system

(d) Halsey premium system

3.5 Cost of idle time arising due to non-avilability of raw materials is 

(a) charged to Costing profit and Loss A/c

(b) charged to factory overheads

(c) recovered by inflating the wage rate.

3.6 When overtime is required for meeting urgent orders, overtime premium should be.

(a) Charged to Costing Profit and Loss A/c.

(b) Charged to overhead costs

(c) Charged to respective jobs.

3.7 Wages sheet is prepared by

(a) time-leeping department

(b) personnel department

(c) payroll department

(d) cost accounting department

3.8 Time and motiou study is conducted by the 

(a) time-keeping department

(b) personnel department

(c) payroll department

(d) engineering department.

3.9 Labour productivity is measured by comparing

(a) Actual time with standard time.

(b) Total output with total man hours

(c) Added value for the product with total wage cost

(d) All of the above

(e) None of the above.

3.10 Labour turnover is measured by

(a) Number of workers replaced average number of workers

(b) Number of workers left / number in the beginning plus number at the end.

(c) Number of workers jointing / number in the beginning of the period.

(d) All of these

(e) None of these.

3.11 Under Gantt’s Task and Bonus plan, no bonus is payable to a worker if his efficiency is less than

(a) 50%

(b) 66 2/3%

(c) 83 1/3%

(d) 100%

3.12 Under Emerson’s efficiency System, no bonus is payable when efficiency is upto

(a) 50%

(b) 66 2/3%

(c) 83 1/3%

(d) 100%

3.13 When standard output is 10 units per hour and actual output is 12 units per hour, the efficiency is

(a) 80%

(b) 100%

(c) 120%

3.14 Given that for a job standard time is 8 hours, actual time taken is 6 hours and the time rate is Rs.2 per hour.  What is the total wages under.  Halsey Premium Plan ?

(a) Rs.18

(b) Rs.16

(c) Rs.14

(d) Rs.12

3.15 What will be the amount of wages if Halsey-weir plan is applied on the data in Q. 3..14 above ?

(a) Rs.13.00

(b) Rs.13.20

(c) Rs.13.80

(d) Rs.14.00

3.16 Using data as given in Q. 3.14 above, what will be the amount of wages under time rate system ?

(a) Rs.12

(b) Rs.14

(c) Rs.16

(d) Rs.18.

3.17 Using data as given in Q. 3.14 above, what will be the amount of bonus under Rowan plan ?

(a) Rs.2

(b) Rs.3

(c) Rs.4

(d) None of the above.

3.18 Using data as given in Q. 3.14 above, what is the amount of bonus under Halsey plan ? 

(a) Rs.2

(b) Rs.3

(c) Rs.4

(d) Nil.

3.19 Standard output is 100 units per day of 8 hours and the piece rates are 20 paise per unit and 15 paise per unit under Taylor’s differential piece rate system, what will be amount of wages if a worker produces 95 units in a day ?

(a) Rs.14.00

(b) Rs.14.25

(c) Rs.18.50

(d) Rs.19.00

3.20 Given the data in 3.19 above, what will be the amount of wages under Taylor’s differential piece rate system, if a worker produces 101 units in a day ?

(a) Rs.15.15

(b) Rs.20.00

(c) Rs. 20.15

(d) Rs.20.20

3.21 Comparing Rowon and Halsey Premium plans, it is seen that when the time saved is less than 50% of the time saved.

(a) Rowan plan allows more wages to a worker than Halsey plan

(b) Rowan plan allows less wages to a worker than Halsey plan

(c) Rowan and Halsey plan allow equal wages to a worker

3.22 When time saved is more than 40% of the standard time, Halsey plan allows.

(a) more wages than Rowan plan

(b) less wages than Rowan plan

(c) equal wages as compared to Rowan plan

3.23 Wages under rowan and Halsey plan are exactly when time saved is

(a) nil

(b) 50% of the standard time

(c) both (a) and (b)

3.24 Standard time is 60 hours and guaranteed time rate is 30 paise per hour.  What is the amount of wages if job is completed in 48 hours ?  Rowan plan is in use.

(a) Rs.24.00

(b) Rs.26.80

(c) Rs.28.80

(d) Rs.30.00

4. Indicate, in the space provided, whether each of the following items represents direct (D) or indirect (I) labour


4.1
Repairman







-----


4.2
Shoe-maker







…..


4.3
Baker








……


4.4
Cabinet maker







……


4.5
Time office clerk






……


4.6
Foreman







……


4.7
Bus driver in a transport company




……


4.8
Carpenter







……


4.9
Sweeper







……


4.10
Watchman







……


4.11
Lathe machine operator






……


4.12
Factory clerical worker






……


4.13
Workshop cleaners






……


4.14
Internal transport men






……

5. Short Answer Questions.  Answer each of the following questions in not more than 4 lines each
5.1 What departments are responsible for controlling labour costs and maintaining personnel records ?

5.2 What functions does the cost accounting department perform in controlling labour costs ?

5.3 What main functions are performed by payroll department ?

5.4 What functions are performed by an engineering department in controlling labour cost ?

5.5 What are the three basic methods of labour remuneration ?

5.6 Give a specific example when group bonus scheme should be used ?

5.7 What is the formula for computing bonus under Rowan plan ?

5.8 What is the purpose of an incentive wage plan ?

5.9 Indicate any one method of payment of bonus to indirect workers.

5.10 How will you measure labour turnover ?

5.11 How is abnormal idle time treated in cost accounts ?

5.12 Give three examples of normal idle time.

5.13 Indicate four methods of achieving labour cost control.

5.14 What is included in productive causes of idle time ?

5.15 How will you classify the causes of idle time ?

5.16 How will you treat leave wages in cost accounts ?

5.17 Enumerate four types of frauds in the payment of wages ?

5.18 Can you think of any advantages of labour turnover ?

5.19 What is the difference between time keeping and time booking ?

5.20 Who are out-workers ?

5.21 Who are casual workers ?

5.22 What are fringe benefits ?  Give examples.

5.23 What is mean by wages abstract ?

5.24 What is included in the preventive cost of labour turnover ?

5.25 What are the replacement costs of labour turnover ?

5.26 What are the merits of Taylor’s Differential Piece Rate System ? 

5.27 What is rowan Plan ?

5.28 What is Halsey Plan ?

5.29 What is high wage plan ?

5.30 Give a proforma of Time and Job Card.

5.31 What is a payroll ?

5.32 What is meant by job evaluation ?

5.33 What is meant by merit rating ?

5.34 What is work measurement ?

5.35 What is the meaning of differential piece rates ?

5.36 What is Merrick’s differential piece rate System ?

5.37 What is mean by profit-sharing ?

5.38 What is meant by non-financial incentives ? Give examples.

5.39 What is group system of wage payment ?

5.40 What type of incentive schemes can be introduced for indirect workers ?

5.41 What is clock card ?  Give its proforma.

5.42 What is weekly time sheet?  For what purpose it is used ?

5.43 What time booking record is maintained for piece workers ?

A N S W E R

1.
1.1
False – payroll department determines the gross and net amount of earnings of each worker.

1.2 False – Metal disc method can be profitably used only in small and medium size concerns.

1.3 False – Taylor’s Plan does not guarantee time wages but pays only on the basis of efficiency of 
workers.

1.4 True – This is according to Factories Act.

1.5 False – Worker’s bonus is equal to : time wages  x  Time saved    .








    Standard time

1.6 True

1.7 True – Overtime due to pressure of work or during the season is quite usual.

1.8 False – It should be transferred to costing P&L A/c.

1.9 False – It is indirect wages as crane helps production only in a general way.

1.10 False – Out-workers are those who go out of the factory to work.

1.11 True – Time-cum-Job card shows the attendance records as well as effective time work of each 
worker.

1.12 False – Job evaluation is a comparative appraisal of jobs and not of workers.

1.13 True

1.14 False – Time booking is done by the supervisor in the department.

1.15 False – In addition to calculation of wages of individual workers, time booking is useful in other costing areas.

1.16 False – Direct wages is a variable cost.

1.17 True

1.18 False – Bonus is payable at efficiency of 66 2/3%

1.19 True – Merrick’s system has three piece rates and none of the rates is fixed below the normal.

1.20 False – Cost of abnormal idle time is transferred to Costing Profit and Loss Account.

1.21 False – Bonus percentage varies according to the time saved.

1.22 True

1.23 True

1.24 False – Clock card is a time-keeping record.

1.25 True

1.26 False – Increase in production may or may not be accompanied by increase in labour productivity.

1.27 True

1.28 False – Treatment of overtime premium depends upon the purpose of overtime.

1.29 False – Wages for leave period is treated as indirect labour cost and charged to factory overhead.

1.30 True

1.31 False – Idle time arises only in case of workers paid on time basis.

2.
2.1
Work study



2.2
efficiency


2.3
two








2.4
Payroll


2.5
cost








2.6
improve working conditions


2.7
factory overhead






2.8
personnel


2.9
time-Booking







2.10
time


2.11
50%








2.12
machine operator

2.13 out-workers

2.14 better wage rates, better working conditions, introducing welfare measures like medical facilities.

2.15 Time card, job card

2.16 Wages of machine operator, salary of works manager, salary of supervisor.

2.17 Salary of foreman.

2.18 66 2/3%

2.19 Labour turnover rate

2.20 Labour cost analysis sheet.

2.21 Direct labour cost.


2.22

Number of workers left




Average No. of workers on roll.


2.23
idle time

2.24 Time card.

2.25 Normal idle time; abnormal idle time.

2.26 Time spent in machine maintenance; time which, of necessity, elapses between completion of one job and start of the next job.

2.27 Time keeping

2.28 Halsey; Rowan.

2.29 Taylor’s; Merrick’s

2.30 50%

2.31 overhead.

2.32 Dummy workers.

3.
3.1
(c)

3.2
(a)

3.3
(e)

3.4
(b)


3.5
(a)

3.6
(b)

3.7
(c)

3.8
(d)


3.9
(d)

3.10
(a)

3.11
(d)

3.12
(b)


3.13
(c)

3.14
(c)

3.15
(b)

3.16
(a)


3.17
(b)

3.18
(a)

3.19
(b)

3.20
(d)


3.21
(a)

3.22
(a)

3.23
(c)

3.24
(c)

4.
4.1
(I)

4.2
(D)

4.3
(D)

4.4
(D)


4.5
(I)

4.6
(I)

4.7
(D)

4.8
(D)


4.9
(I)

4.10
(I)

4.11
(D)

4.12
(I)


4.13
(I)

4.14
(I).

Overhead

1. True or False ? Indicate in the space provided.
…..
1.1
Factory overhead includes all production costs other than direct materials and salaries.

…..
1.2
A term synonymous with factory overhead is “other expenses”.


…..
1.3
departments that assist producing departments indirectly are called service departments.

…..
1.4
factory overhead cost applied to a job is usually based on a pre-determined rate.

…..
1.5
Variable overhead vary with time.

…..
1.6
Overheads are also known as chargeable expenses.

…..
1.7
Pre-determined overhead rates can be used for both job order and process cost accumulation 


procedures.

…..
1.8
When actual overheads are more than absorbed overheads, it is known as over-absorption.

…..
1.9
Carriage inwards is not really an overhead at all, but is a direct cost.

…..
1.10
Cash discounts are generally excluded completely from the costs.

…..
1.11
Cost of indirect materials is apportioned to various departments.

…..
1.12
When the amount of over-or under-absorption is quite large, it is transferred to Costing profit and 


Loss Account.

…..
1.13
Pre-determined overhead rates are used only in standard costing system.

…..
1.14
A blanket overhead rate is a single overhead rate computed for the entire factory.

…..
1.15
wages of delivery van drives is a selling overhead.

…..
1.16
Under-absorption of overheads means that actual overheads are more than absorbed overhead.

…..
1.17
Rent is not included in cost when premises are owned by the company.

…..
1.18
Where direct labour rates vary widely, direct labour cost would be more suitable than direct labour 

hours in applying factory overheads.

…..
1.19
Examples of factory overhead are salary of plant manager and departmental heads, depreciation 


and wages of foreman.

……
1.20
The principal bases used for applying factory overhead are ; units of production, material cost, direct 

wages, direct labour hours and machine hours.

…..
1.21
The application of predetermined overhead rates is a reason for the difference in costing and 


financial profit or loss.

…..
1.22
Allocation of overhead implies the identification of overhead cost centres to which they relate.

…..
1.23
Apportionment of overhead is the allotment of whole items of cost to cost centres or cost units.

…..
1.24
Overhead absorption is the allotment of overhead to cost units.

…..
1.25
The word ‘allocation’ apportionment’ and ‘allotment’ have exactly the same meaning in costing.

…..
1.26
It is better to use blanket rate for overhead absorption where several products passing through a 


number of different producing departments are manufactured.

…..
1.27
The use of actual overhead absorption rates results in delay in determining cost of products.

…..
1.28
Blanket rate of overhead absorption may be suitably applied in small firms which are manufacturing 

a single product.

…..
1.29
Direct labour cost method of absorption of factory overhead is suitable only in those departments 


where work is done by manual labour.

…..
1.30
Rate per unit of production is the easiest and most suitable of all the methods of absorption.

…..
1.31
Percentage on direct wages method of absorption of factory overhead makes a distinction between 

the production of hand workers and that of machine workers.

…..
1.32
Percentage on direct materials method of absorption of factory overhead can be suitable used only 

where one kind of article is produced and material prices remain more or less constant.

…..
1.33
Machine hour rate is separately computed for each machine.

…..
1.34
All the percentage methods of absorption of work overhead normally make no distinction between 

fixed and variable overhead.

…..
1.35
Machine hour method of absorbing overhead can be adopted only for those departments in which 

work is mainly done by machines.

…..
1.36
Administration overheads are usually absorbed as a percentage of prime cost.

…..
1.37
Under-absorption of overhead results in under-statement of cost.

…..
1.38
Where normal business cycle extends over more than one year the amount of under or over-


absorbed overheads may be carried charge to the next accounting year.

…..
1.39
When the amount of under or over-absorbed overheads is significant, it is equitably apportioned to 

work in progress, finished stock and cost of sales.

…..
1.40
Practical production capacity means normal capacity.

…..
1.41
The difference between maximum capacity and practical capacity is known as idle capacity.

…..
1.42
Surplus capacity is not the same thing as idle capacity.

…..
1.43
Surplus capacity refers to temporary idleness of plant because of lower production.

…..
1.44
Maximum capacity cannot be reached under practical conditions.

…..
1.45
Packing cost is a distribution cost.

2. Complete the following blank spaces :
2.1
Overhead is an aggregate of ……………………… and ……………………. and ………………….


2.2 Salary of a foreman in a production department is ………………….. with respect to the department, but ……………………. With respect to the product.

2.3 …………………. Method of absorption of factory overheads should be used only when all the cost units passing through the cost centre are identical.

2.4 Control of factory overheads is best achieved by ……………………….

2.5 The per unit cost of the …………………… portion of the factory overhead varies with the volume of production while the ……………….. portion remains the same with volume.

2.6 The difference between actual and recovered factory overheads is called …………

2.7 Factory overhead costs are made available prior to their being in curred by means of …………………..

2.8 Machine hour rate method of absorption is appropriate when production is carried out on ……………..

2.9 The technical term for charging of overheads to costs units is known as …………………..

2.10 Under or over-absorption of overheads arises only when overheads are absorbed by ……………………..

2.11 The capacity level that smoothes out highs and lows of production is called ……………… capacity.

2.12 …………… means the allotment of whole items of cost to cost centres or cost units.

2.13 ……………….. is the allotment of proportions of terms of cost to cost centre or cost units.

2.14 Allotment of overheads to cost units is known as …………………………

2.15 The process of grouping costs according to their common characteristics is known as ……………………

2.16 When the amount of overhead incurred is less than the amount absorbed it is called ……………………. of overheads.

2.17 When the amount of overhead absorbed is less than the actual amount of overheads incurred, it is known as ……………………… of overhead.

2.18 When the amount of under or over-absorbed overhead is significant, it is disposed off by the use of ………………………

2.19 Two of the main causes that give rise to under absorption or over absorption of overheads are ………………….. and ………………………….

2.20 When the amount of under or over absorbed overheads is negligible, it is disposed of by ……………………

2.21 When budgeted overhead expenses for a month are Rs.20,000 and anticipated effective machine hours are 5,000, the machine hour rate will be …………………… per hour.

2.22 The ………………………. rate  is computed by dividing the overhead by the aggregate of the productive hours of direct workers.

2.23 In …………… machine hour rate, wages of the machine operator are included.

2.24 The difference between practical capacity and the capacity based on sales expectancy is known as …………………….

2.25 The …………………… capacity is the maximum capacity minus unvoidable loss of operating time.

2.26 Administration overhead are usually absorbed as a percentage of …………………………….

2.27 ……………………. is the cost of seeking to create and stimulate demand and of securing orders.

2.28 The cost of searching for new or improved products, new applications of materials or new or improved methods is known as ………………..

2.29 …………………… is an actual or predetermined rate of overhead absorbtion which is calculated by dividing the cost to be absorbed by the material cost incurred or expected to be incurred and expressing the rate as a percentage.

2.30 The method of providing for depreciation by means of equal periodic charges over the assumed life of the asset is known as ………………………..

2.31 …………………… of depreciation consists of a normal depreciation rate augmented for additional depreciation, sustained by the asset depreciated.

2.32 ……………………. is the loss in the value of an asset due to its supersession at a date earlier than that foreseen.

2.33 Two examples of fringe benefits to employees are …………………….. and ………………………..

2.34 Majority of the general factory overhead items are apportioned to various departments on the basis of ………………………

2.35 Relative areas of departments is used as basis for the apportionment for items such as …………………….. and ………………………

2.36 Cost of personnel department is apportioned to various departments on the basis of …………………………

3. Multiple Choice Questions.  Select the correct answer in each of the following :
3.1 The allotment of whole items of cost to cost centres or cost units is called.

(a) Cost allocation

(b) Cost apportionment

(c) Overhead absorption

3.2 Packing cost is a 

(a) Production cost

(b) Selling cost

(c) Distribution cost

(d) It may be any of the above.

3.3 Directors’ remuneration and expenses form a part of

(a) Production overhead

(b) Administration overhead

(c) Selling overhead

(d) Distribution overhead.

3.4 Salary of a foreman should be classified as a 

(a) Fixed overhead

(b) Variable overhead

(c) Semi-fixed or semi-variable overhead.

3.5
Charging  to  a  cost centre those overheads that result solely from the existence of that cost centre is 
known as

(a) Allocation

(b) Apportionment

(c) Absorption

(d) Allotment.

3.6
Absorption means

(a) Charging of overheads to cost centres

(b) Charging of overheads to cost units

(c) Charging of overheads to cost centres or cost units.

3.7 Administration overheads are recovered as a percentage of 

(a) Direct materials

(b) Direct wages

(c) Prime cost

(d) Works cost.

3.8 Which of the following is a service department ?

(a) Refining department

(b) Machining department

(c) Receiving department

(d) Finished department.

3.9 Which of the following is NOT a selling overhead ?

(a) Insurance to cover sold goods while in transit

(b) Royalty on sales

(c) Legal costs for debt realisation

(d) Distribution of samples.

3.10 Which method of absorption of factory overheads do you suggest in a concern which produces only one uniform item of product ?

(a) Percentage of direct wages basis

(b) Direct labour hour rate

(c) Machine hour rate

(d) A rate per unit of output

(e) Any of the above.

3.11 When the amount of under-or over-absorption is significant, it should be disposed of by

(a) Transferring to Costing profit and Loss A/c.

(b) The use of supplementary rates

(c) Carrying over as a deferred charge to the next accounting year.

3.12 Idle capacity of a plant refers to the difference between

(a) Maximum capacity and practical capacity

(b) Practical capacity and normal capacity

(c) Practical capacity and capacity based on sales expectancy

(d) Maximum capacity and actual capacity.

3.13 Maximum possible productive capacity of a plant when no operating time is lost is its.

(a) Practical capacity

(b) Normal capacity

(c) Theoretical capacity

(d) Capacity based on sales expectancy

3.14 The capacity which is based on the long term average of the sales expectancy level is known as

(a) Practical capacity

(b) Actual capacity

(c) Normal capacity

(d) None of these.

3.15 When the amount of overhead absorbed is less than the amount of overhead incurred, it is called.

(a) Under-absorption of overhead

(b) Over-absorption of overhead

(c) Proper absorption of overhead.

3.16 Bad debt is an example of

(a) Production overhead

(b) Administration overhead

(c) Selling overhead

(d) Distribution overhead.

3.17 Number of workers employed is used as a basis for this apportionment of

(a) Time office costs

(b) Canteen expenses

(c) Personnel department expenses

(d) Any of these.

3.18 When the factory overhead control account has a closing debit balance, factory overhead was

(a) Over-absorbed

(b) Under-obsorbed

(c) Fixed

(d) Variable

3.19 factory overhead should be absorbed on the basis of

(a) Relationship to cost incurred

(b) Direct labour hours

(c) Direct labour cost

(d) Machine hours.

3.20 In which of the following methods of providing depreciation, the amount of depreciation goes on decreasing with the age of the asset.

(a) Reducing balance method

(b) Sum of digits method

(c) Annuity method

(d) (a) and (b) above

3.21 Which of the following is a scientific and accurate method of absorption of factory overheads

(a) Percentage on prime cost

(b) Percentage on direct labour cost

(c) Machine hour rate

(d) All of these.

3.22 What is the basis for distribution of indirect material cost to various departments ?

(a) Direct allocation

(b) Cost of direct materials consumed

(c) Machine hours worked

3.33 Warehouse expenses is an example of

(a) Production overhead

(b) Selling overhead

(c) Distribution overhead.

3.23 Selling and distribution overheads are absorbed on the basis of

(a) Rate per unit

(b) Percentage on works cost

(c) Percentage on selling price of each unit.

(d) Any of these.

3.25
The following balances appear as on 31st dec. 1984 for X Ltd.


Overhead over-applied

Rs.        350


Cost of goods sold

Rs.9,50,000


Work-in-progress inventory
Rs.   38,000


Finished goods inventory
Rs.   75,000


The most appropriate treatment of over-applied overhead would be :

(a) To transfer it to costing P&L A/c.

(b) To prorate it between work-in-progress inventory and finished goods inventory

(c) To prorate it between inventory of work-in-progress and finished goods and cost of goods sold.

3.25 The difference over a period of time, between actual factory overhead and absorbed factory overhead will usually be minimum when the pre-determined overhead rate is based on

(a) normal capacity

(b) maximum capacity

(c) direct labour hours

(d) machine hours

(e) none of the above

3.27
A company found that the differences in product costs resulting from the application of pre-determined 
overhead rates rather than actual overhead rates were immaterial even through actual production wal 
substantially less than planned production.  The most likely explanation is that

(a) Factory overhead was mainly composed of variable costs.

(b) Several products were produced simultaneously

(c) Fixed factory was a significant cost

(d) Cost of factory overhead items were substantially larger than anticipated.

3.28 Under-absorbed factory overhead costs are

(a) excess variable factory overhead costs

(b) factory overhead cost not allocated to units produced

(c) fixed factory costs not allocated to unit produced

(d) cost that cannot be controlled

(e) None of the above.

3.29 If a pre-determined factory overhead rate is not employed and the volume of production is reduced from the level planned, the cost per unit would be expected to.

(a) remain unchanged for fixed costs and increase for variable costs 

(b) increase for fixed cost and remain unchanged for variable costs

(c) increase for fixed costs and decrease for variable costs

(d) decrease for fixed costs and decrease for variable costs.

3.30 The least suitable basis for applying overhead is

(a) materials consumed

(b) direct labour cost

(c) direct labour hours

(d) machine hours

3.31 Excess plant capacity means

(a) temporary idleness of plant

(b) greater production capacity than a company can use

(c) the difference between theoretical capacity and actual capacity.

3.32 The concept of ‘ideal capacity of plant’ as used in cost accounting is its.

(a) theoretical maximum capacity

(b) best capacity for normal production

(c) capacity used for standard setting

(d) capacity below which production should not fall.

4. Indicate the bases of apportionment commonly used in connection with overhead, for each item listed below :

4.1
Canteen



………..

4.2
Electric lighting



………..

4.3
Fire prevention



………..

4.4
Rent, rates, etc.



………..

4.5
Building depreciation


………..

4.6
Plant depreciation


………..

4.7
Power




………..

4.8
Time office wages


………..

4.9
Accident insurance


………..

4.10
Storage costs



………..

5. Classify the following items as indirect materials or supplies (IM), indirect labour (IL) and indirect expenses (IE) :

5.1
Coal



……


…..


…..

5.2
Repairs of plant


…..


…..


…..

5.3
Small tools


…..


…..


…..

5.4
Inspector’s wages

…..


…...


…..

5.5
Power



…..


…..


…..

5.6
Rent



…..


…..


…..

5.7
Fuel oil



…..


…..


…..

5.8
Freight-in


…..


…..


…..

5.9
Telephone and telegraph
…..


…..


…..

5.10
Store-keeper’s salary

…..


…..


…..

5.11
Shop supplies


…..


…..


…..

5.12
Workmen’s compensation insurance


…..


…..

6. Indicate against each basis of apportionment listed below, two items of overheads for which that basis may be used for apportioning to departments :


6.1
Direct allocation



…..


(.i)

…..


(ii) …..

6.2
Floor area



…..


(.i)

…..

(ii) …..

6.3
Technical estimate


…..


(.i)

…..

(ii) …..

6.4
No. of workers



…..


(.i)

…..

(ii) …..

6.5
Asset values



…...


(.i)

…..

(ii) …..

7.
Classify the following items of overhead by function and variability :







                    Function

       Variability

7.1
Foreman’s salary


…..


…...


……

7.2
Salesman’ salary


….


……


……

7.3
Plant depreciation


…..


……


……

7.4
Salesman’s commission


…..


……


……

7.5
Salary of General Manager

…..


……


……

7.6
Factory telephone expenses

…..


……


……

7.7
Office rent



…..


……


……

7.8
Consumable stores


…..


……


……

7.9
Petrol in delivery vans


…..


……


……

7.10
Rent of warehouse of finished goods
…..


…..


……

8.
What should be the basis of apportionment of the following selling and distribution overheads to 
various products :

8.1
Advertisement



……


……

8.2
Credit and collection


……


……

8.3
Warehouse rent



……


……

8.4
Salesmen’s commission


……


……

8.5
Royalties



……


……

8.6
Fancy packing



……


……

8.7
Bad debts



……


……

8.8
Transit insurance


……


……

8.9
Finished stock loss waste

……


……

8.10
Sales office costs


……


……

9.
Short Answer Questions.  Answer each of the following questions in not more than four lines.



9.1 Define them ‘overhead’.

9.2 Show the difference between overhead and indirect expenses, if any.

9.3 Why will a department’s overhead vary from month to month ?

9.4 State some of the main expenses that are considered to be factory overheads.

9.5 Name four bases of applying factory overheads.

9.6 The factory overhead control account has a credit balance at the end of the period.  was overhead over-absorbed or under-absorbed ?

9.7 What is the difference between overhead and chargeable expenses ?

9.8 In what circumstances would plant hire be treated as a direct expense ?

9.9 Give two examples of direct expenses.

9.10 What is a plant register ?

9.11 What are notional charges and why are they made ?

9.12 Distinguish between selling overheads and distribution overheads.

9.13 Distinguish between depreciation and obsolescence.

9.14 When is overtime premium treated as a direct cost ?

9.15 What is the formula for calculating the amount of depreciation as per diminishing balance method ?

9.16 What is the generally accepted treatment of interest on capital in cost accounts? 

9.17 Name four service departments.

9.18 What is the difference between allocation, apportionment and absorption of overheads ?

9.19 Why should overhead rates be pre-determined ?

9.20 What is under and over-absorption of overheads ?

9.21 What are the causes of under or over-absorption of factory over-heads ?

9.22 Why it is desirable to divide the pre-determined overhead rate into fixed and variable components ?

9.23 What is the difference between producing and service departments ?

9.24 What is mean by re-apportionment of service department costs on reciprocal basis ?

9.25 How are overhead expenses classified according to functions ?

9.26 Give four examples of each of fixed and variable overhead.

9.27 What is the usefulness of classification of overhead into fixed and variable ?

9.28 What are standing order numbers ?

9.29 What is the importance of distribution of overhead expenses ?

9.30 What is the departmentalisation of overhead ?

9.31 What is meant by blanket rate of overhead absorption ?

9.32 What are the disadvantages of using blanket rates ?

9.33 What are the advantages of using machine hour rate for recovery of overhead costs .

9.34 When is under or over-absorbed amount of overhead is transferred to Costing Profit and Loss Account ?

9.35 How will you deal with fines realised from workers ?

9.36 What is sum of digits method of providing depreciation ?

9.37 What do you mean by depreciation on the replacement value of assets ?

9.38 Give five examples of fringe benefits to workers.

9.39 Under what circumstances direct material cost can be profitably used as a basis for absorption for factory overhead ?

9.40 Why is maximum capacity called theoretical capacity ?

9.41 Distinguish between idle capacity and surplus capacity.

9.42 Distinguish between practical and normal capacity.

9.43 Enumerate the different methods of accounting of administration overhead.

9.44 How are cost accounting department expenses dealt with in cost accounts ?

9.45 Which do you think is the best method for the absorption of selling and distribution overhead ?

9.46 How are bad debts treated in cost accounts ?

9.47 When packing cost is treated as production cost and when it is treated as selling cost ?

ANSWER

1.


1.1
False -
Factory overhead includes all items other than direct materials, direct wages and direct expenses.

1.2
False -
Factory overhead includes indirect materials, indirect wages while the term expenses does not 


include these.

1.3 True

1.4 True

1.5 False -
Variable overheads vary with production.

1.6 False -
Overhead are indirect costs, whereas chargeable expenses is another name of direct expenses.

1.7 True -
Pre-determined overhead rate is only a method of computing overhead cost in advance of 
production, and can be used in any method of costing, including job or process costing.

1.8 False -
When actual overheads are less than absorbed over-heads, or in other words, overheads absorbed 
are more than the amount of actual overheads, it  is known as over-absorption.

1.9 True -
It is a direct cost in the sense that it is added to the purchase price of materials.

1.10 True -
Cash discount is a form of interest and as such is a financial item.

1.11 False -
Cost of indirect materials is allocated and not apportioned.

1.12 False -
It is disposed of by the use of supplementary rates.

1.13 False -
Such rates are used in any system of costing.

1.14 True -
It is calculated by factory overheads dividend by total units of base throughout the factory.

1.15 False -
It is a distribution overhead and not a selling overhead.

1.16 True -
When actual overheads are more than absorbed overheads or, in other words, when overheads absorbed are less than actual amount of overheads, it is known as under-absorption .

1.17 False -
When premises are owned by the company, a charge in lieu of rent is made in cost accounts.

1.18 False -
When labour rates vary widely, direct labour hours may be more suitable than direct cost as a basis of absorption.

1.19 True

1.20 True

1.21 True -
This is because overhead applied at predetermined rate will be different from that of actual amount of overhead.

1.22 True

1.23 False -
Apportionment is the allotment of the proportions of items to cost centres or cost units.

1.24 True

1.25 False -
In the terminology of costing, these terms have different meanings.

1.26 False -
In such a case it is better to use multiple rates.

1.27 True

1.28 True

1.29 False -
This method is suitably used in any department.

1.30 False -
This method is suitable only in certain industries like mining, brick laying, shoe industries like mining, brick laying, shoe industry etc.

1.31 False -
No such distinction is made by this method.

1.32 True

1.33 True

1.34 True

1.35 True

1.36 False – Administration overheads are usually absorbed as a percentage of works cost.

1.37 True

1.38 True

1.39 True

1.40 False – Practical capacity and normal capacity are used in different senses.

1.41 False -
Idle capacity is the difference between practical capacity and capacity based on sales expectancy.

1.42 True

1.43 False -
Temporary idleless of plant causes idle capacity and not surplus capacity.

1.44 True

1.45 False -
Packing cost may be a manufacturing cost, selling cost or distribution cost, depending upon the purpose of packing.

2.

2.1 Indirect materials, indirect labour, indirect expenses.

2.2 Direct, indirect.

2.3 A rate per unit of output.

2.4 Flexible overhead budget.

2.5 Fixed, variable.

2.6 Under or over-absorbed overheads.

2.7 Pre-determined overhead rate.

2.8 Machines.

2.9 Absorption.

2.10 Pre-determined overhead rates.

2.11 Normal

2.12 Allocation.

2.13 Apportionment

2.14 Absorption

2.15 Cost classification

2.16 Over-absorption

2.17 Under-absorption

2.18 Supplementary rate

2.19 Wrong estimate of overhead expenses; wrong estimate of leve of production. I.e. the base.

2.20 Transfer of Costing Profit and Loss Account

2.21 Rs.4

2.22 Direct Labour hours

2.23 Comprehensive.

2.24 Idle capacity

2.25 Practical

2.26 Works cost

2.27 Selling cost

2.28 Research cost

2.29 Direct material cost percentage rate

2.30 Straight line method.

2.31 Accelerated rate

2.32 Obsolescence

2.33 Medical benefits, holiday pay.

2.34 Direct labour hours and / or machine hours.

2.35 Rent : lighting and heating

2.36 Number of employees

3.
3.1
(a)


3.2
(d)


3.3
(b)


3.4
(c)

3.5
(a)


3.6
(b)


3.7
(d)


3.8
(c)

3.9
(a)


3.10
(d)


3.11
(b)


3.12
(c)

3.13
(c)


3.14
(c)


3.15
(a)


3.16
(c)

3.17
(d)


3.18
(b)


3.19
(a)


3.20
(d)

3.21
(c)


3.22
(c)


3.23
(c)


3.24
(d)

3.25
(a)


3.26
(a)


3.27
(c)


3.28
(e)

3.29
(b)


3.30
(a)


3.31
(b)


3.32
(a)

4.
4.1 No. of employees

4.2 No. of light points.

4.3 Area or value of stock

4.4 Area

4.5 Area

4.6 Asset value

4.7 Technical estimate

4.8 No. of employees

4.9 Total wages or No. of workers

4.10 No. of requisition handled

5.
5.1
IM


5.2
IE


5.3
IM


5.4
IL

5.5
IE


5.6
IE


5.7
IM


5.8
IM

5.9
IE


5.10
IL


5.11
IM


5.12
IL

6.
6.1 (.i)
Indirect materials


(ii)
Indirect wages.

6.2 (.i)
Rent




(ii)
Heating and lighting

6.3 (.i)
Steam




(ii)
Electric light & power

6.4 (.i)
Time-keeping



(ii)
Canteen expenses

6.5 (.i)
Depreciation of assets


(ii)
Fire insurance

7.
       Function





Variability
7.1
Factory overhead




Semi-fixed

7.2
Selling overhead




Fixed

7.3
Factory overhead




Semi-fixed (but fixed if wholly depends on efflux of 







time).

7.4
Selling overhead




Variable.

7.5
Administration overhead




Fixed.

7.6
Factory overhead




Semi-fixed.

7.7
Administration overhead




Fixed.

7.8
Factory overhead




Variable.

7.9
Distribution overhead




Variable.

7.10
Distribution overhead




Fixed.

8.
8.1 Sales value.

8.2 No. of orders or percentage of cash collected.

8.3 Floor area occupied by each item of stock

8.4 Direct allocation.

8.5 Direct allocation.

8.6 Direct allocation.

8.7 A percentage of cash collection.

8.8 Value of goods in transit

8.9 Direct allocation.

8.10 Sales value.

Cost Book-keeping

1. True or false ?  Indicate in the space provided.
…..
1.1
the purpose of cost control accounts is to control the cost of production.

…..
1.2
Cost control accounts is a system of integrating cost and financial accounts.

…..
1.3
Cost control accounts are prepared on the fundamental principles of double entry book-keeping.

…..
1.4
Balance in a control account represents the total contained in a number of accounts of similar in a 

subsidiary ledger.

….
1.5
Cost and financial books need not be reconciled under the system of cost control accounts.

…..
1.6
Cost ledger adjustment account represents the personal accounts shown in financial books.

…..
1.7
The balance of stores ledger control accounts represents the total balance of stock of each item of 

material.

…..
1.8
Selling and distribution costs are credited to selling and distribution overhead account.

…..
1.9
Debt balance of selling and distribution overhead account represents over-absorbed selling and 


distribution overheads.

…..
1.10
The closing balance of Costing Profit and Loss Account represents under or over-absorption of 


overheads.

…..
1.11
Posting in wages control account are made from wage analysis sheet.

…..
1.12
Overhead adjustment Account always has a debt balance.

…..
1.13
Finished goods ledger control account will always have a debit balance.

…..
1.14
Cost and financial accounts can be integrated by Third Entry system.

…..
1.15
Integral accounts eliminate the necessity of operating Cost Ledger Control Accounts.

…..
1.16
In integrated accounts, no entry is passed for issuing materials to production by stores department.

…..
1.17
Under integral system, no accounts are opened for debtors and creditors.

…..
1.18
Loss on the sale of capital assets is not included in accounts under integral system.

…..
1.19
Cost and financial accounts are reconciled under integrated system.

…..
1.20
Rent receivable is not included in cost accounts.

…..
1.21
Costing Profit and Loss Account contains all items of financial nature (like interest) which are not 


included in cost ascertainment.

…..
1.22
Interest received but not included in costing is to be added back to costing profit in reconciling 


costing profit with financial profit.

…..
1.23
Income is provided only in financial accounts and not in cost accounts.

…..
1.24
Works overhead under-absorbed will have to be added back to costing profit to reconcile it with 


profit as per financial accounts.

…..
1.25
Work-in-progress ledger contains accounts of individual jobs.

…..
1.26
Under-absorbed and over-absorbed overheads are transferred to overhead adjustment account.

…..
1.27
The Stores Ledger Control Account in the Cost Ledger shows the balance of total stores in hand as 

on a particular date.

…..
1.28
In cost control accounts, sales are credited to Cost Ledger Control Account.

…..
1.29
Stock Ledger contains an account of each individual item of raw material.

…..
1.30
Cost Ledger Control Account is opened in the cost ledger.

2. Fill in the blank spaces :

2.1 In ………….. Ledger, an account is maintained for each job.

2.2
………….. is the principal ledger of the costing department in which the impersonal accounts are 
maintained.

2.3
The balance of ………… account represents in total the detailed balance of the stores accounts.

2.4 The closing balance of Costing Profit and Loss Accounts represents the ………………

2.5 The balance in cost of sales account is transferred to …………………

2.6 In cost ledger accounting, the amount of over or under-absorbed overheads is debited or credited to ………………. Account.

2.7 When materials are returned to the supplier, accounting entry is to debit ………… account and credit ……….. account.

2.8 When stores are issued to production, the accounting entry is to debit …………… account and credit …………….. account.

2.9 When stores are issued to maintenance account, the accounting entry is to ……………. Production overhead account and ……………. Stores Ledger Control Account.

2.10 When production overheads are over-absorbed, the Production Overhead Account will show a …………… balance.

2.11 The balance in overhead adjustment account is transferred to ……………….. account.

2.12 Finished Goods Ledger Account will invariably have a …………………. balance.

2.13 ……………………. and ………………. and …………. are purely financial incomes and thus not included in cost accounts.

2.14 ……………….. and ………………… are two such items which are shown only in cost accounts and not in financial accounts.

2.15 ………………. system eliminates the necessity of operating Cost Ledger Control Accounts and of reconciliation of cost and financial accounts.

2.16  ………………… and ……………….. are items which represent appropriation of profit and thus not included in costing.

2.17 Under integral system, the accounting entry for recording depreciation on machinery is to debit ……………. account, and credit …………………………. account.

2.18 When costing profit is Rs.9,500 and the amount of works overhead under-recovered is Rs.500, the financial profit is Rs……………………..

2.19 The main function of Cost Ledger Control Account is to make the cost ledger ……………….

2.20 Postings in wages Control Account are made from …………………

2.21 ……………….. is a system in which financial and cost accounts are interlocked to ensure that all relevant expenditure is absorbed into the cost accounts.

3. Multiple choice questions.  Select the correct answer in each of the following :
3.1 Cost and financial accounts are reconciled under

(a) Integral system

(b) Cost control accounts system

(c) Under both (a) and (b)

(d) None of these.

3.2 Which of the following accounts makes the cost ledger self-balancing ?

(a) Overhead adjustment account

(b) Costing P. &  L. account

(c) Cost Ledger control account

(d) None of the above.

3.3 Costing Profit and Loss account does not record the 

(a) Sales value of goods

(b) Balance of overhead adjustment account

(c) Balance of cost of sales account

(d) Balance of stores ledger control account.

3.4 The closing balance of cost of sales account is transferred to 

(a) Cost ledger control account

(b) Selling and distribution overhead account

(c) Costing profit and loss account.

3.5 Purchases for special jobs is debited to

(a) Work-in-progress ledger control account

(b) Cost ledger control account

(c) Stores ledger control account.

3.6 Journal entry for sales in control accounts system is :


(a)
Dr.
Cost Ledger control account




Cr.
Costing Profit and loss account

(b)
Dr.
Cost of sales account




Cr.
Sales





(c)
Dr.
Selling and distribution overhead account




Cr. 
Sales




3.7 Journal entry for absorption of production overheads in control accounts is :


(a)
Dr.
Production overhead account




Cr.
Cost ledger control account


(b)
Dr.
Work-in-progress control account




Cr.
Production overhead account


(c)
Dr.
Overhead adjustment account




Cr.
Production overhead account

3.8 Journal entry for the absorption of Selling and Distribution overhead account in control accounts is :


(a)
Dr.
Cost of sales account




Cr.
Selling and distribution overhead account

(b)
Dr..
Finished goods ledger control account




Cr.
Selling and distribution overhead account.

(c)
Dr.
Cost ledger control account




Cr.
Selling and distribution overhead account
(d) None of these.

3.9 Journal entry for over-absorbed administrative overhead amount in control accounts is :


(a)
Dr.
 Costing profit and loss account




Cr.
 Cost ledger control account


(b)
Dr.
Overhead adjustment account




Cr.
Administration overhead account


(c)
Dr.
Administration overhead account




Cr.
Overhead adjustment account



(d)
No entry is required.

3.10 Journal entry for issuing materials to production in control accounts is :


(a)
Dr.
Stores ledger control account




Cr.
Cost ledger control account



(b)
Dr.
Cost ledger control account




Cr.
Stores ledger control account



(c)
Dr.
Work-in-progress control account




Cr.
Stores ledger control account



(d)
No entry is required.

3.11 Journal entry for payment of wages in control accounts is :


(a)
Dr.
Wages control account




Cr.
Cash






(b)
Dr.
Wages control account.




Cr. 
Cost ledger control account



(c)
Dr.
Wages




Cr.
Cash





3.12 Payment to creditors for supplies made.  Journal entry in control accounts will be —


(a)
Dr.
Sundry creditors




Cr. 
Cash






(b)
Dr.
Sundry creditors




Cr.
Cost ledger control account



(c)
Dr.
Sundry Creditors




Cr.
Costing Profit and Loss account



(d)
No entry is required.

3.13 what entry will be passed under integrated system for purchase of stores on credit ?


(a)
Dr.
Stores




Cr.
Creditors





(b)
Dr.
Stores ledger control A/c.




Cr.
Creditors





(c)
Dr.
Stores ledger control A/c.




Cr.
General Ledger Adjustment A/c.


3.14 What accounting entry under integrated system will be passed for payment to creditors for supplies made ?


(a)
Dr.
Creditors




Cr.
Cash






(b)
Dr.
Creditors




Cr.
Stores ledger control A/c.



(c)
No entry required.

3.15 What will be the accounting entry in integrated accounts for absorption of works overheads ?


(a)
Dr.
Works-in-progress control A/c.




Cr.
Factory overhead control A/c.



(b)
Dr.
Factory overhead




Cr.
Factory overhead control



(c)
No entry is required

3.16 The accounting entry in integrated accounts for recording sales will be —


(a)
Dr.
Cost ledger control




Cr.
Profit and Loss





(b)
Dr.
Sales




Cr.
Profit and Loss





(c)
Dr.
Debtors or Cash




Cr.
Sales





3.17 Under integral system, the accounting entry for recording depreciation charges on machinery will be —


(a)
Dr.
Depreciation




Cr.
Machinery





(b)
Dr.
Factory overhead control A/c.




Cr.
Machinery A/c.





(c)
Dr.
Factory overhead control A/c.




Cr.
Cost ledger control A/c.



3.18 Integral accounts eliminate the necessity of operating

(a) Cost Ledger Control account

(b) Stores Ledger control account

(c) Overhead adjustment account

(d) All of these.

3.19 Which of the following items is not included in cost accounts ?

(a) Interest received on bank deposits

(b) Dividend paid on share capital

(c) Debenture discount

(d) Damages payable at law

(e) All of these.

3.20 Which of the following items is included in cost accounts ?

(a) Transfer to general reserve

(b) Charitable donation

(c) Notional rent

(d) Rent receivable

(e) None of the above.

3.21 When costing profit is Rs.12,500 and a charge in lieu of rent is Rs.1,000 the financial should be —

(a) Rs.12,500

(b) Rs.11,500

(c) Rs.13,500

3.22 When costing loss is Rs.5,600, administrative overhead under-absorbed being Rs.400, the loss as per financial accounts should be —

(a) Rs.5,600

(b) Rs.6,000

(c) Rs.5,200

3.23 Depreciation charged in costing is Rs.12,500 and in financial books is Rs.11,200.  What will be the financial profit when costing profit is Rs.5,000 ?

(a) Rs.5,000

(b) Rs.3,700

(c) Rs.6,300

3.24 Profit as per financial books is Rs.72,000.  What will be the profit as per costing books when selling and distribution expenses, actual as well as predetermined are Rs.2,500 ?

(a) Rs.72,000

(b) Rs,70,500

(c) Rs.69,500

3.25 Which of the following items is not included in financial books ?

(a) Heavy donations

(b) Loss on the sale of fixed assets

(c) Notional rent

(d) Interest on capital

(e) All of these.

3.26 Which of the following items shall be added to costing profit to arrive at financial profit.

(a) Under-absorption of works overhead

(b) Interest on debentures paid

(c) Rent receivable

(d) Income tax paid

(e) All of the above.

4. Eight transactions are recorded in five T-shape accounts shown below.  Analyse the accounts and list those eight transactions for which the relevant accounts have debited or credited.



Cost Ledger Control Account


Stores Ledger Control Accounts


(c)   432
(a)  60,000


(a)  60,000
(e)  43,530





(b)  15,100




(c)       432





(d)  32,500





(g)    2,100



Wages   Control   Account


Work-in-Progress Ledger Control A/c.



(d)  32,500
(f)  21,450


(e)  43,530

(f) 21,450

(g)   2,100

(h) 10,000

Production Overhead Account





   (b)  15,100
    (h)  10,000


The transaction are :

4.1 ……………………………………………

4.2 ……………………………………………

4.3 ……………………………………………

4.4 …………………………………………….

4.5 …………………………………………….

4.6 …………………………………………….

4.7 …………………………………………….

4.8 …………………………………………….




